MathVine - Pre-Algebra Name

Subtracting Fractions Date Period
Subtract.
nl 3 92 8 3 2 4 42 5

3 5 3 8 3 4 8 9
52 6 ) 2 4 73 1 g L 2

8 10 4 4 9 9 3 3
g9) 2 O 1003 2 1y 71 1202 2
7 6 6 6 9 9 5 3
13 4 3 199 1 4 156 4 16) © 3
6 6 8 8 9 8 8 8
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nt 3
3 b
Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators
The least common
multiple of 3 and 5
is 15, so we need to
multiply to make

each of the
?en%min%ors =15
=15
3 35 3 o 9
~5*3= 715
Since these

fractions have the
same denominator,
we can just subtract
the numerators

be nugy 4

15715~ " 15

2 8
3 8
Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators
The least common
multiple of 3 and 8
is 24, so we need to
multiply to make
each of the
gen%min%té)rs =24
3 88 3 24 94
—8*%3T 24
Since these
fractions have the
same denominator,

we can just subtract
th6e nu erators

2)

248 24_ 24
— 94 can be

reduced, since 8 is
a factor of both —8

24:
and8 3 1
~2478= 3

The fraction is now
in lowest terms

3 2 4

3 4
Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators
The least common
multiple of 3 and 4
is 12, so we need to
multiply to make
each of the
gen%minaéors =12
o — —
3 44 3 12 19
T4%37 712
Since these
fractions have the
same denominator,
we can just subtract
tge nui“rberators 4

EZE:—E
—ﬁcanbe

reduced, since 4 is
a factor of both —4

12:
and4 4 1
1274~ 73

The fraction is now
in lowest terms

2 5
8 9
Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators
The least common
multiple of 8 and 9
is 72, so we need to
multiply to make
each of the
genamin%té)rs =72
8 59 8 72 40
T9*8T T2
Since these
fractions have the
same denominator,

we can just subtract

’ih8e nu4 erators22

72 72 =772
72 can be

4)

reduced, since 2 is

a factor of both

—%% and272
72727 36

The fraction is now
in lowest terms



5 6

8 10

Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators

The least common
multiple of 8 and 10
is 40, so we need to
multiply to make

5)

each of the
gen%minatgrs =40
= — —
8 65 440 24
T10%47 T 40
Since these

fractions have the
same denominator,
we can just subtract

ghe nu&eratois

40 ~ 40 ~ 40

) 2 4
4 4
Since these

fractions have the
same denominator,
we can just subtract

g1e nzijmeratgrs

474~ "4
2
—can be
reduced, since 2 is
a factor of both —2
4:
andd,

“1F3= 3
The fraction is now
in lowest terms

né_l
9 9
Since these

fractions have the
same denominator,
we can just subtract

[:Pe nijmer2ators

97979

1 2

3 3

Since these
fractions have the
same denominator,
we can just subtract
the numerators

1 ymeray

8)

37373



9 0 9

7 6
Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators
The least common
multiple of 6 and 7
is 42, so we need to
multiply to make

each of the
gen%mingté)rs =42
S*E =19

7 56 7 35
67T T 42
Since these

fractions have the
same denominator,
we can just subtract
he numerators

5 " 5
42 7 42 = T 42

10) 3 2
6 6
Since these

fractions have the

same denominator,

we can just subtract

%be nglmeratgrs

6.6~ 6
2

— g can be

reduced, since 2 is
a factor of both —2
and 6:

3 2 1

672773
The fraction is now
in lowest terms

7 1

9 9

Since these
fractions have the
same denominator,
we can just subtract
he numerators

he npmeg

11)

97979
g can be reduced,
since 3 is a factor of
Both ? ang 9:
9733

The fraction is now
in lowest terms

2 2

5 3
Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators
The least common
multiple of 3 and 5
is 15, so we need to
multiply to make
each of the
gen%minaéors =15

12)

Fr3=TF
0 23 5 0 10
~3*5= 715
Since these

fractions have the
same denominator,
we can just subtract

tge nu%erators 4
15715~ ~ 15



13 4 3
6 6
Since these

fractions have the
same denominator,
we can just subtract
the numerators

tfre ngmer;

6 66

1491 4
8 8
Since these

fractions have the
same denominator,
we can just subtract

tfe nzijmeratgrs

8 8~ "8

15 6 4

9 8
Since these
fractions have
different
denominators, we
need to find the
least common
multiple of the
denominators
The least common
multiple of 8 and 9
is 72, so we need to
multiply to make
each of the

gen%minité)rs =72
9%8= 12

4 9 36
—8%9T T 72
Since these
fractions have the
same denominator,
we can just subtract

5{18e nugréerat?rzs
{% 72772
79 can be reduced,
since 12 is a factor
?f2botq%2 a?d 72:

271276
The fraction is now
in lowest terms

16) 0 3
8 8
Since these

fractions have the
same denominator,
we can just subtract

e numerators
the ngimex;
g ~ 878
g can be reduced,
since 2 is a factor of
Both% anclj 8:
87271
The fraction is now
in lowest terms



